YEoY) v0/Y N iU oy b 1S W Noee dland moSwoni 1597 ol

(5as) (8L 5 dvogow Ol ylow @b | 13,

60 IS Sl ylows g o jge] (Sa Aldg,15 acgeze )
Syl

> G5 OVY pliylowy | Y
20 ol glwjlos | ¥
0 ORE fm plof Gl jloy | £
20 P b pll glwylow | 0
0 Ol (Swed plol (4l lows 1
> ol b Lo \
25 Lo oo miogollpuol linsloss | A
25 3Ly &) il omtagallyuel sylowt | 4
35 Sl Al cof Ol slows Ve
0 ol Jegr pliwylow | )
0 Ol b plwylow | VY
> Ol gliwylow | Y
0 agees Glwylom | V€
> U dhonls lw)low | V0
> 2 0958 Jgwy ©pie lawylow | VT
5 ik L¥l 36 byl | VY
40 a3lgls yliwylon | A
0 w0 oy glwylon | 19
0 GBlew plwylow | Ve
25 3w plwjlow | 1Y
10 @ ot 1ol lwslow | TY
50 Lo Gliwjlom | TY
0 (2 g Gl jlowy | TE
0 il il liwylows | YO
0 Ol (kg dpew pliwylow | T
0 O e gl jlow | TY
0 RS s (Bl dged Glimjlowt | TA
0 Ol (i ded gLyl | T
> Ol (ol e byl | Y
10 B 293 (5o s Gliwlowy | T




0 Sgso Ol fost | TV
75 s oy | VY
0 o o | VE
0 L ol o | YO
5 SUT s 1,5 dobld yliw,low | ¥
0 3993l dpebld iyl | TV
5 Jlasild dpobls i lows | A
0 oad plwjlow | TR
0 ool S liwsyloy | £
15 O dlol 15345 oyl slows £
0 28 ol il gl jlo | £F
20 oS o all Jguy doxo Sl slons | £Y
0 OB e byl | £0
0 Mo lwjlowy | €7
10 (e)ske! S 5 55 Sliwlont | £V
10 dj Sl Opia | A
0 dows doxo O i | €8
0 0902 oyl | 00
0 sy obwylem | 0)
0 A Gt 63 plwylow | OF
5 olaad diloyl 55 dilsg,l oy
0 Syl 55 alig,ly | of
> Ol y 83 dildg,ls | 00
5 Gyguiddas 5S> aildg,ly | 07
20 ) 53 ailgls | oY
0 Plos ) dnd g0 S5 dildg,ld oA
5 g ailigyls | 04
0 o Juslaw] 553 CBy dowd ailgls | o
20 S5 Slgles Iy w85 | Y
0 (Seils Jobo) golel il 555 | Y
0 5,Kwd (ywis s 553 | Y
5 s Logle 55| €
0 Srobon; S55 | 70
10 obduyd S| T
15 Mol Jaillgsl S5 | W
15 PREYS R
600 JS aen




